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PACIFIC ACADEMY OF HIGHER EDUCATION AND
RESEARCH UNIVERSITY, UDAIPUR

SECTION – B

GEOGRAPHY

Max. Marks – 100

Roll No. (in figures) _______________________________________________________

Roll No. (in words) _______________________________________________________

Signature of the Candidate __________________________________________________

Signature of Invigilator's 1. ______________________ 2. ________________________

Instruction for Candidates:

Attempt all 50 questions, each question carry 02 marks. There is no negative marking. Please

mark the correct answer as A/B/C/D at appropriate place, on the right hand side of the question, in

blue or black ink.

Q.1 Best Rock for the building construction is:
Hkou fuekZ.k gsrq mÙke pV~Vku gSaa\

(a) Sedimentry  ijrnkj (b) Granite  xzsukbV

(c) Mica  vHkzd (d) Slate  LysV [    ]

Q.2 South pole of pangia contnent is at:

iSaft;k egk}hi ij n- /kqoz fLFkr Fkk\

(a) Near Antartica  v.VkdZfVdk ds ikl (b) Near Fackland   Qkdys.M ds fudV

(c) Netal (S.Africa)  usVky ¼n- vfQzdk½ (d) Southern India  nf{k.kh Hkkjr [    ]

Q.3 The Theory of Plate – tectonic presented in the year of:
IysV foorZfudh fl}kUr fdl o"kZ çLrqr fd;k x;k%

(a) 1875 (b) 1960

(c) 1970 (d) 1975 [    ]
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Q.4 “Man is a product of the earth’s surface, this means not merely that he is child of the

earth, dust of her dust….” This Statement is of -
ekuo /kjkry dh mRikn gSaA bldk vFkZ dsoy ;g ugha gS fd og i`Foh dk f’k’kq gSa] mldh feV~Vh dk feV~Vh

gSa-------------- ;g dFku ftudk gS ;s gS &

(a) Semple  lSEiy (b) Huntington  gf.VaxVu

(c) Brunches  czwUl (d) Blache  Cyk’k [    ]

Q.5 The Remaning ocean of panthalasa is:
isUFkkylk uked egklkxj dk vo'ks"k egklkxj gS%

(a) Atlantic vVykafVd (b) Pacific iz'kkUr

(c) Indian ocean fgUn (d) Arctic vkdZfVd [    ]

Q.6 The 'Hot spot' Principle was presented by:
^xeZ LFkku* fl)kUr dk izfriknu fd;k %

(a) De-morgan Mh ekxZu us (b) Tuzy Wilson Vwth foYlu us

(c) Helam gSye us (d) Mession eSlu us [    ]

Q.7 Normally wind flowers from:
lkekU;r% iouksa dh fn'kk dk :[k jgrk gS%

(a) L.P. to HP (b) land to sea

(c) Seas to land (d) HP to LP areas [    ]

Q.8 The Instrument measures the wind speed is :
iou dh xfr fdl ;U= ls ekih tkrh gS\

(a) Barometer cSjksehVj (b) Wind wane iou lwpd ;U=

(c) Animometer ,uheksehVj (d) Rota meter jksVk ehVj [    ]

Q.9 "Tornedo" major area is :
VkjukMks dk eq[; {ks= gS %&

(a) N. America mRrjh vesfjdk (b) North Europe mRrj ;wjksi

(c) China phu (d) India Hkkjr [    ]
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Q.10 Nefometer is used for measurements of:
usQksaehVj ls fdldk ekiu fd;k tkrk gS%

(a) Rainfall quantity (b) Clouds direction and speed

(c) Salinity of oceans (d) Above all [    ]

Q.11 Dolphine challenger ridge situated at :
MkfYQu pSysUtj dVd dgka fLFkr gS%

(a) Atlantic ocean vVykfUVd egklkxj (b) Arctic ocean vkdZfVd egklkxj

(c) Pacific Oceaniz'kkUr egklkxj (d) Indian Ocean fgUn egklkxj [    ]

Q.12 Kalsberg Ridge location is in:
dkYlZcZx dVd dgk fLFkr gS\

(a) Arbian Ocean vjc lkxj (b) Bay of Bengal caxky dh [kkM+h

(c) S. Indian Ocean nf{k.kh fgUn egklkxj (d) S. Atlantic Ocean n- vVykafVd lkxj [    ]

Q.13 Average depth of oceans is :
egklkxjksa dh vkSlr xgjkbZ fdruh gS\

(a) 3300 mtr (b) 3800 m

(c) 4300 m (d) 4800 m [    ]

Q.14 Cold wall related with :
'khr nhokj lEcfU/kr gS\

(a) Gulf stream (b) Canari current

(c) Falk land current (d) Curushivo current [    ]

Q.15 Which is the smallest ocean :
lcls NksVk egklkxj dkSulk gS %&

(a) Indian Ocean (b) Atlantic Ocean

(c) Arctic Ocean (d) Pacific Ocean [    ]

Q.16 Where is the Telegraph plateau located:
VsfyxzkQ iBkj dgkW ij fLFkr gS %&

(a) N. Atlantic Ocean (b) S. Atlantic

(c) N. Pacific (d) S. Pacific [    ]
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Q.17 Bio-diversity prosperous area are :
tSo fofo/krk le`) {ks= gS %&

(a) Tropical Zone m".k dfVca/kh; {ks= (b) Polar Areas /kzqoh; {ks=

(c) Temperate 'khrks".k dfVca/kh; {ks= (d) Oceanic area egklkxjh; {ks= [    ]

Q.18 Earth summit held at :
iF̀oh lEesyu dgk ij gqvk Fkk &

(a) U.K. ;w-ds- (b) U.S.A.  ;w-,l-,-

(c) Brazil czkthy (d) Peter Embroz ihVj ,Eczkst [    ]

Q.19 Analytical Human Geog. was written by :
,ukysfVdy gweu T;ksxzkQh ds ys[kd gSA

(a) Jean Brunche thu czwU'k (b) D.H. Smith Mh-,p- fLeFk

(c) G.F. Cartrer th-,Q- dkVjZj (d) Peter Embroz ihVj ,Eczkst [    ]

Q.20 'Geog. is the study of areal interaction' definition of Geog. was given by :
Hkwxksy {ksf=; vUrfØ;k dk v/;;u gS Hkwxksy dh mDr ifjHkk"kk izLrqr dh Fkh\

(a) E.W. Huntington bZ MCY;w gfVaxBu us (b) M.W. Davis MCY;w ,e- Msfol us

(c) Edward ullman ,MoMZ myeSu us (d) E.C. Sample bZ-lh- lsEiwy us [    ]

Q.21 Magzine 'Antipode' published from :

^,.VhiksM* uked if=dk izdkf'kr gksrh gS\

(a) France QzkUl (b) Jelain tSysu

(c) Ratzel jsVtsy (d) Housofer gkmlksQj [    ]

Q.22 The father of 'geopolitics' is :
Hkw jktuhfr ds firkeg dgs tkrs gS %&

(a) Spikeman Likbdesu (b) Jelain tSysu

(c) Ratzel jsVtsy (d) Housofer gkmlksQj [    ]

Q.23 The name of the magazine published by 'Geographic society of India' is :
T;ksxzkfQd lkslk;Vh vkWQ bf.M;k }kjk çdkf’kr if=dk dk uke gS%

(a) Geographical Review of India 
T;kxzkQhDy fjO;w vkWQ bf.M;k

(b) Geographer

T;ksxzkQj

(c) Bhoo-darshan (d) National Geographical journal of [    ]
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Hkw&n'kZu India
us'kuy T;ksxzkfQdy tuZy vkWQ bf.M;k

Q.24 Who said "Resources are not, they became." lalk/ku gksrs ugha curs gS] ;g fdus dgk gS\

(a) Zimmerman ftEejesu (b) Marshall ek'kZy

(c) Mitchell fe'ksy (d) Fetter QsVj [    ]

Q.25 Which type of activity is trade?
O;kikj fdl izdkj dh fØ;k gS &

(a) Primary izkFkfed (b) Secondary f}rh;d

(c) Tertiary r`rh;d (d) Quaternary  prqFkZd [    ]

Q.26 Corn belt is known for – 
eDdk isVh ftlds fy, tkuk tkrk gS og gS &

(a) Japan tkiku (b) China phu

(c) USA la;qDr jkT; vesfjdk (d) India Hkkjr [    ]

Q.27 What is Anthrasite?
^^,UFkzslkbV** D;k gS &

(a) Type of Iron ore

yksg v;Ld ds izdkj

(b) Type of Coal

dks;ys ds izdkj

(c) Type of Mica

vHkzd ds izdkj

(d) Type of Bauxite

ckWDlkbV ds izdkj

[    ]

Q.28 In which country lowest Birth rate found :
fdl ns'k esa U;wure tUe nj ik;h tkrh gS %&

(a) France QzkUl (b) Japan tkiku

(c) Germany teZuh (d) U.S.A. ;w-,l-,- [    ]

Q.29 Optimum population Theory was given by :
vkn'kZ tula[;k fl)kUr fdlds }kjk izLrqr fd;k x;kA

(a) Clark DykdZ (b) Edwin Canon ,Mfou dsuu

(c) Limmemmann fyekjesu (d) G.M. Gosal th-,e- xkslky [    ]

Q.30 Tribal "Semang" lives at:
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lsekx tutkfr jgrh gS %

(a) Malasia eysf'k;k (b) Middle Africa e/; vfQzdk

(c) Kalahari dkykgkjh (d) Tundra Pradesh Vq.Mªk izns'k [    ]

Q.31 Lines present the equal density of population known as :
leku tula[;k ?kuRo n'kkZus okyh js[kk;sa dgh tkrh gS %&

(a) Isobar vkblksckj (b) Isoline vkbZlks ykbZu

(c) Isopiconics vkbZlks ikbdksfuDl (d) Isothem vkbZlkFkeZ [    ]

Q.32 When National population commission established :
jk"Vªh; tula[;k vk;ksx dh LFkkiuk gqbZ %

(a) 16 April 2011 (b) 15 May 2001

(c) 11 June 2001 (d) 11 May 2000 [    ]

Q.33 Which of the following is not the branch of economic Geog.
fuEu esa ls dksu lh vkfFkZd Hkwxksy dh 'kk[kk ugha gSA

(a) Industrial Geog. (b) Political Geog.

(c) Transport Geog. (d) Agriculture Geog. [    ]

Q.34 The concept of world Economic complex was given:
fo'o vkfFkZd dkEiysDl dh ladYiuk nh %

(a) Chorley pksysZ us (b) Heggat gsxsV us

(c) Berry cSjh us (d) Hatsan gkWVlu us [    ]

Q.35 The statement 'knowledge is the key of all resources' given by :
Kku gh leLr lalk/kuksa dh dwath gS ;g dFku fdlus fn;k &

(a) Recardo fjdkZMks (b) Zimmermman ftEesjesu

(c) Smith fLeFk (d) Miseal fe'ksy [    ]

Q.36 By whom the Industrial Theory related :

vkS|ksfxd fl)kUr dk lEcU/k fdlls gS %

(a) Davis Msfol (b) Fenk QSad

(c) Hover gwoj (d) Taylor Vsyj [    ]
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Q.37 The geographical pivot of History Article written by :
nh T;ksxzkQhdy fioaV vkQ fgLVªh uked ys[k fy[kk x;k&

(a) Housofer gkmlksQj (b) Mackinder eSdsafMj

(c) Spykman Likbdesu (d) Kohen dksgsu [    ]

Q.38 Rimland concept give by:
fjey.M ladYiuk dk izfriknu fd;k%

(a) Mackinder esfdaMj (b) Spykman LikbZd esau

(c) Ponds iksaMl (d) Kohen dksgWu [    ]

Q.39 The word 'OXIDENTAL' related to the culture of :
vkDlhMsUVy 'kCn fdl laLd`fr ls lEcfU/kr gSA

(a) S. En. Asia n- iwohZ ,f'k;k (b) S. Asia ,f'k;k

(c) N. Wn Europe m-i- ;wjksi (d) Middle East e/; iwoZ [    ]

Q.40 The five years plan pattern in India was adopted by :
Hkkjr esa iapof"kZ; ;kstuk izk:i dgk ls fy;k x;kA

(a) Russia :l (b) Chine phu

(c) England baXys.M (d) America vesfjdk [    ]

Q.41 Number of Agro – ecological Zones in India is
Hkkjr esa ,xzks bdksyksftdy tksUl dh la[;k gS %

(a) 16 (b) 21

(c) 27 (d) 31 [    ]

Q.42 Hydro Electricity project "Rongtong" located at –
jksxVksax ty fo|qr ifj;kstuk vofLFkr gS&

(a) Manipur ef.kiqj (b) Arunachal v:.kkpy

(c) Himachal fgekpy (d) J & Kashmir tEew d'ehj [    ]

Q.43 The Highest peak of south India is:
nf{k.kh Hkkjr dk loksZP; f'k[kj dkSu lk gS &

(a) Anai mudi vukbZ eqMh (b) Do-Do Beta nks&nks csVk

(c) Mahableshwar egkcys'oj (d) Mahendragiri egsUnzfxjh [    ]
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Q.44 "Kareva" is
djSok gS %&

(a) Lake >hy (b) Fault Valley Hkza'k ?kkVh

(c) Residual mountain vof'k"V ioZr (d) River unh [    ]

Q.45 In India Golden revaluation is related with :
Hkkjr esa lqugjh ØkfUr fdlls lEcfU/kr gSA

(a) Wool production
Åu mRiknu

(b) Oil Seeds Production

frygu mRiknu

(c) Food production

[kk|kUu mRiknu

(d) Plantatish Agriculture

ckxokuh d`f"k

[    ]

Q.46 Twin minerals from the following is  :

fuEufyf[kr esa ls tqMok [kfut dgk tkrk gS &

(a) Copper – Tin rkack Vhu (b) Iron – coal yksgk dks;yk

(c) Lead – Zinc lhlk tLrk (d) Gold – silver lksuk pkanh [    ]

Q.47 The R.F. of 1 cm = 2 kilometer is :

1 ls-eh- = 2 fd- ehVj dk izfrfuf/k fHkUu gksxk%

(a) 1 : 200.00 (b) 1 : 200,000

(c) 1 : 110,000 (d) 1 : 50,000 [    ]

Q.48 One mile is equal to how much yard.

1 ehy ds cjkcj fdrus xt gksrh gS

(a) 360 (b) 1060

(c) 1760 (d) 1560 [    ]

Q.49 Hythergraph represent two climatic variables of:
fgnjxzkQ nks foHksn'khy tyok;q n'kkvksa dks izdV djrk gSA

(a) WBT & RH (b) RH & Average Temperature

(c) Average Rainfall & Temperature (d) WBT & average rainfall [    ]

Q.50 Equal-Time lines on maps are known:
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ekufp= esa leku le; js[kkvksa dks dgrs gS %

(a) Contours lEewp js[kk;sa (b) Isocron Line vkblksØksu js[kk;sa

(c) Isobar Line lenkc js[kk;sa (d) Issoha Line vkb lks gsykbu js[kk;sa [    ]

Rough Sheet


